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SA: sYEMY
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Gl sYUEM XX (B2l &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
= & ) 24,162,593 23,343,198 819,395
=2 7,613,303 7.602,553 10,750
Xl 2,379,936 2,249,536 130,400
7l 78,729 79,425 1696
[= 1,600,714 1,601,408 2694
2 12,489,911 11,810,276 679,635
= HEEL 4,380,609 4,432,609 A52,000
=2 595,584 657,584 A62,000
Xl 377,800 377,800 0
7| 17,211 17,211 0
[ 739,365 738,765 600
2 2,650,649 2,641,249 9,400
SHEM =X 137,493 117,493 20,000
=2 7,000 7,000 0
J| 17,211 17,211 0
[= 2,100 2,100 0
2 111,182 91,182 20,000
SsHA=EXNSE WAL =& 20,000 0 20,000
201 22| 20,000 0 20,000
02 2224 20,000 0 20,000
OsdAE1A HWHRH =& 20,000 0 20,000
=23 =& 1,712,926 1,722,926 A 10,000
=2 0 12,000 A 12,000
[=4 634,923 634,323 600
2 1,078,003 1,076,603 1,400
SHIAYHALY (AEEXH) 0 20,000 A 20,000
=2 0 12,000 A 12,000
< 0 2,400 22,400
2 0 5,600 25,600
307 QI12+0| & 0 20,000 220,000
=2 0 12,000 A 12,000
[= 0 2,400 22,400
2 0 5,600 25,600
02 DIZFBAAIY 2 X 0 20,000 A20,000
O=sgaY 248 X 0 20,000 A20,000
=2 0 12,000 A 12,000
(= 0 2,400 A2,400
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= 1,264,942 1,191,064 73,878
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| = 7000 0 7,000
AePs42 DIA SR (MLGAY) 103,839 106,775 ~2,936
< 42,046 43,424 ~1,378
2 61,793 63,351 A 1,558
308 XX € XS0 & 103,839 106,775 £2,936
< 42,046 43,424 21,378
2 61,793 63,351 A1,558
08 DEIIROCHS R T 103,839 106,775 £2,936
OHBASMS(HIE) DA 22X
93,885, 00021 %67.997% 63,839 66,775 £2,936
< 30,046 31,424 ~1,378
2 33,793 35,351 A1,558
TH H CH 2 2= & 4,200 0 4,200
= 4,200 0 4,200
301 LB A 4,200 0 4,200
= 4,200 0 4,200
IBEECE 4,200 0 4,200
OSTeH HHXHES X2 4,200 0 4,200
< 4,200 0 4,200
saxs y=3 3,518,134 3,333,001 185,043
2 303,407 308,633 75,226
T 1,158,236 1,027,836 130,400
p] 39,304 40,000 696
< 160,685 167,301 £6,616
2 1,856,502 1,789,321 67,181
A HBSY SHA 335,180 303,680 31,500
402 RIER 20| H 335,180 303,680 31,500
01 SIXHE AL E T (RATHE) 335,180 303,680 31,500
OXe ASHSSLAMY K&
18021 350,000 *50% 31,500 0 31,500
S0 HUXEZAL X 5,281 5,281 0
=2 2,114 2,113 1
< 949 950 N
2 2,218 2,218 0
402 DIZHXH2 0] A 5,281 5,281 0
= 2,114 2,113 1
= 949 950 N
2 2,218 2,218 0
02 I2EXHE A EZ (01 ETH ) 5,281 5,281 0
OWMUXIZZAL MxIK 5,281 5,281 0
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2 309,512 315,000 ~5,488
02 QI XHE AR EZ (01 ETH ) 736,933 750,000 ~13,067
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< 45,972 46,021 ~49
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O=&0E MHlA tdN= 65,000& 65 0 65
OXNGsASEHE2HAHKE 65,579,090& 65,580 0 65,580
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OSEHE XX SEAY 0l XteHe
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